NATIONWIDE EDUCATION AND SCHOLARSHIP TEST
(N.E.S.T.)

SAMPLE QUESTIONS
Impeortant: Please note that the questions given in this Sample Question Paper are for example only. The number and
distribution of questions in each section of the actual paper will be as advertised in our publicity material in the relevant section
of this website and posters sent to your college this year.

Section-1
PHYSICS & CHEMISTRY

1. An electron moving m an electromagnetic field moves -
{2} In a straight path
(b} Along the same plans in the direction of its propagation
(c) Opposte to the original dissction of propagation
{d)In a sne wave

B

The total work done on the particle is equal te the change in its kinetic energy
{2} Alvaavs

() Omily if the faress setmg on the body are conssrvative.

{c) Ondy if the forces acting on the bodv are gravitanenal

{d) Onby 1f the forces acting on the body are elastic

3. The follovwing unit measure eneTgy:
{a}) Kilo-veart howr.
(b Viali*velt 'zee *obhm
{ei Pascal*foot®foot
{d} (Coudomb®coulomb}* farad

4. Astronawuts m stable orbits around the earth are m a state of weightlessness because
{a) There iz no gravitational force acting on them
{b) The satellite and the air inside it have acceleration equal to that of gravitational aceeleration there.
(€) The gravitamonal force of the éanth and the aum balance gving mull resultant
{d} There 15 no atmosphere at the height at which the satelltes move

J. Anorgan pipe, open at both ends and another organ pipe closed at one end,
will resonate with each ether, if their lengthe are in the matoe of
{a)i:1 {b)1:4 (el 2:1 (d)1:2

&, Dhomg an pothermal expansion of anideal gas
{a} Its mtemnal energy mcreases.
() Its mtermal energy decreases.
{e) I= intemal ensrpy does mot change.
i{d) The work done by the gasis not equal to the quantity of heat absorbed by i,

==F

A parallel plate capacitor is charged and the chargng battery is then disconnected.
If'the plates of the capacitor are moved further apan by means of msulating handles
{a) The charge on the capacitor mereases.

{b) The vohage across the plates nereases.

i(c) The capacitance mereases,

{d} The electrostatc ensrgy stored m the capacitor decreases.

8. Twoequal negatiee charges q are fixed at point (0,a) and (0.-a) on the y-axis.
A positive charge Qs released from rest at the point {220 on the x-axis. The charge O will
{a) Execute srnple harmorie motion about the origm
(k) Move to the ongn and remain a1 rest
{c} Move to mfinty
{d} Execute oscillatory but not stmple harmomc miction

2. Asguare conducting loop of length Lon a side camies a current 1.
The magnetic feld at the centre of the loop is
{a} Independant 6f L
(b} Propertional to L*L
{c}) Inversely proportional to L
{d) Directly proportsonal to L

10. The focal length of 2 convex lens when placed in air and then o water will
{a) Increase m wates with respect to ai
(b} Increase m akr with respect to water
{c) Decrease m water with respect to. ar
{d} Remam the same

11 The maximum kinetic energy of the photoslectron emutted from the surface s dependant on
ia) The ntensty of meident radiation
ib) The potenrhal of the collactor electrods
{c) The frequency of mcident radiation
{d) The angle of ncidence of radiation of the nuface

11, An electron orbiting in a eireular arbit avound the roclsus of the atam
(a) Has 3 magnetic dipale mement
{b) Exents an electric force on the nucheus equal to that on it by the mucleus
(¢} Does not produce a magnetic induction at the nucleus
{d} All of the above

13, The X.ravs beam coming from an 3ray tobe will ba:
{a) Monschromatic
(b} Having all wavelengths smaller than a centam munimum wavelength
{c) Having all wavelengths larger than a certam nunamwm wavekength
{d) Having all wavelengths lving between a mmamam and a maxomumn wavelength

14. The mas: mumber of 2 miclews is
{a) Alwavs less than #s atomic number
(k) Alwavs more than its atomac number
{c) Alvays equal to its atemic member
{d) Sometumes more and sometimes equal to s atomic number

15, Two smccessive slerments belongmg to the first transition senes have the same number
of electrons partially filling arbitals. They are
{a)}Vand Cr b Tiand ¥V () Mn and Cr (d)Fe and Co

16. When »+!has the same vahe for two or more orbitals the new electron enters the orbital where
{4} R IS maxEmrs {b ) m is P ()] ks maximrn (i) 1 ks minismarm

17. Aballoon flled with ethylene 1s pocked with a sharp peanted needle and quickly placed m a tank
full of hy deogen at the same pressure. After a while the balicon would have
{a} Shmmk
(b} Enfarged
{eh Complately collapzed
{d} Remam unchanged m size

18, Which of the following statements is not true?
{a} The ratic of the mean speed to the ms speed is mdependant of temperature
(b} The square of the mean speed of the mobecules i3 equal to the mean squared speed at a certain temperature
() Mean kanetic ensrgy of the gas molecules at any gven temperature 5 mdependant of the mean spesd
{d}Mone

19. Which of the followmg staternents represent Raoult's Law?
{a} Mok fraction of solvent = ratio of vapowur pressure of the solution to  vapour presame of the sobvent
(b} Alole fraction of sohute =ratio of vapour pressure of the sohution to  vapour pressure of the solvent
{c) Mol fraction of solute = lowesing of vapour préssure of the soheten
(d) Mole fraction of solvent = lowenng of vapows pressure of the sclution

20. Elements having the same atomic number and the same atoomic mass are known as
{2} Ieotopes
(b} leatanes
(&) Isomers
{d}None of the above

11. Which is the most acidic amongst
{2} Mitraphenal
(b} Oetoulers
{c) Fhenol
{d) Cresal

22. Pure water does not conduct slecinicity becamwse it i3
{2} Abmnost not ordsed
(b} Low beding
{e) Newutral
{d} Readily decomposed

23, Ina sal bodge, KCliz used because
{a) It 15 an electrolyte
{b) The transference number of K= and C1™ 1s nearly the same
(e} It 15 3 good conducter of electnety
{d) All of the above

24. A depolarizer wiad in the dry cell batterias is
{ay K1 (b} kinO2 (eIt KOH {d) Nene of the above

25, The hydrolvas of alkyl habdes by aqueous NaOH 15 best termed as
{a} Electrophovhc substitution reaction
(b} Electrophylic addition reaction
(2} Mrnelsophylc 3 ddition reaction
(d) Huclesphvlic substitution reaction

26, The hydrocarbon that gives a ted precipitate with ammemiacal cuprous chionde 15 (where "0 means 2 tmple bonad)
(a) CH3-CHI-CHI-CH3
(b) CH3-COC-CH3
{e)CHI=CH.CH=CH2
(dyCH3I.CH2.COCH

b
-

. Whach of the following reagents is neither neutral nor basic
{a) Lucas' reagent
{b) Tollen's reagent
(e} Bayer's reagent
{d) Fehling's solstion

28. The substance which 1s most easily mitrated
{a) Tohuene
i) Bhenzens
() Matrobenzens
{dy Chlorabenzens

28, Carbylamine reaction is a test for
(a) Primary amine
(b} Secondary amine
() Tentiary amine
{d) Quanemary ammonium salt

30, Which of the following exides cannot be reduced by carbon to obtain metal
{2y Zn0
(b AL2O3
{e) Fe203
{d) P

i1, Which of the following iz not an oxide cra?
{2} Casatema
(b} Sademte
(¢} Pyrolusite
{d} Bauxite

31, Which among the follawing is called philasopher's wool
{2} Calhilos=
(b} Calamuns
{c) Steliite
{dy Cenussite

33. When a bicyele is in motion the foree of friction exerted by the ground on the too wheels s such that it acts
{2} Inn the backward diraction on the front whesl and & the forward disection an the rear wheel
(b} In the foreard drection on the front wheel and m the backward dizection on the rear wheel
(&) In the backward digection on both the front and rear wheels
{d}None of the above.

34, A centain radioactive element A has a hali' e =t seconds,
In (2} seconds the fraction of the mitial quantity of the element so far decaved is neardy
{2} 29%
{b) 15%
{c) 10%%
{dy45%a

35, Which of the follewmg plots would be a straight fne 7
{2} Loganthm of decay rate agamst loganthm of tome
{b} Loganthm of decay rate agamst loganthm of number of decayving maclei
(e} Decay rate agamst time
{d} Mumber of decaying nucls against trme

36, Aradisactive slement x has an atomie nurmber of 100
It decays directly nto an element ¥ which decays directly mto elerment z.
In both processes a charged particle is emitted.
Which of the followmng statements would be tnue?
() v has an atormoc mumber of 102
(b} v has an avorie mumnber of 101
(e} z has an atemse meraber of 100
id) z has an atomic nusmber of 101

37, Ifthe sum of the roots of the equation ax® < bx < o=0 is equal to the sum of the squares of their reciprocals
hen a'c, b'a, ¢'b arem
{a) AP
(b) GP
(c) HP
(d) None of these

35. A man speaks the truth 3 out of 4 timwes,
He throws a die and reports it tobe a 6.
What is the probability of it being a 67
{ay3/8
by 378
{c)3/4
(d) Mone of the above

39. feorA+cosB+cosC=1then ABCisa
(a) Bight angle thangle
(b} Equilateral tnangle
(c} All the angles are acute
(d) Mone of thess

40. Image of point (3 8)in the bne x +3v="Tis
(@) (-1,4)
(b {-1.4)
(€} (2.4)
{d){-2,-4)

41. The mass number of 2 nucleus is
{a} Aloraws bess than its atonus mamber
{b} Alwavs maore than its atomic menber
(e} Sormetimes more than and sometimes equal to its atonue nurnber
{d}Mene of the above

41, The maxonum KE of the photoelectron emmtted from a surface 13 dependent on
{3} The mtensity of madent radiation
{b} The potential of the collector electrode
{eh The frequency of incident radiation
(d} The angle of incidence of radiation of the surface

43, Which of the followmg 15 not an essential condition for interfersnce
{a} The two mterfenng waves must be propagated n almost the same direction or
the two interfenng waves must intersect at a very small angle
(b} The waves rist have the same time period and wavelength
() Amgplitude of the too waves should be the same
(d) The interfering beams of Eight must onginate from the same source

44, When X-Fay photons collide with electrons
{2} They slow down
{b} Their muass mereases
() Their wave length increases
(d} Their energy decreases

45, An electron emits energy
{2} Because its in orbit
{b) When it jurmps from one energy level to another
(&) Electrons are attracied towards the nucleus
{d} The electrostatic force 15 nsufficient to hold the electrons m orbis
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Section-1
GROUP —-"A"

Configaration of an UART in senal commmmication has
a. clock signal b bawd rate, stop bit, data lengih ¢. bath d nons

Deadlock happens when two processes wanmng for the resources used by each other; m this condstion
2. both processes know that they are waring for each other

b. one process knows that other 1s waiting

¢ botha and b

d none

Fhyacal memory location in nimnimg program i resclved by

a. bmker b. conupiler e loader d. ne

Task switching is switching betwesn

2. processes b. threads ¢. concument part m same progam d. all
In 2-pass compiler

a. identifier can be wiad without it declaration

b, identifier should be declared before 1s first use
¢, both

d. none

The differencs batween fmetisnal’'srdinary SDLC and object-anented SDLC &
a. m funcional SDLC, the d.:'.':lu_pmn:nl tome 15 more than d&ngu.l.lmz

b. in chject onented SDLC, design timie 15 more than development tume

c. both

d. none

Which of the following is not a bus-interface for a mictoprocessor?
2 [5A b. AGP . PCl d ICE

Which of the fellowing staternents 15 true For structure?
A, 4 sinecture can contain a pointer to itself

b. struciure can be campared

¢, bath

d. none

Which 18 not defined as codds mule of RDBMSET

a. comprehensive data sub-language nide b. view updates

¢, physcal data dependency d. ntegity dependency

Encryption means

4. text to cipher b. cipher to text c. both d nons

In macro-processor, over dlocking wall resublt m

2. overheating b. malfunchonmg . both d. none
. Cachéis

a RO - c. FROM d EFROAL

T os tnplements two types of pipes, one i formatted and the other s

i low level pipes b. hagh level pipes c. middle Tevel pipes d. mone

Which of the following remains m memory temporariby?

a. Resident portion of COMMAND.COM b. Transient peetion of COMMAND.COM

¢ APl d. sk B1OS

If the tirne quantum s teo largs, Round Bobin seheduling degensrates to

a. Shortest Job First Scheduling b. hlubtilevel Queus Scheduling

¢, FCFS d. Mone of the above

Transponders are used for which of the followmg purposes?

a. Uplinking b. Dovmbnking c. Both {a) and (b) d Mone of the abowve

The format speafier "-24d" 15 used for which purpose mC?

2. Left justifiing a string b. Right justifving a stnng

c. Remweving a stimg from the consols d. Ueed for the scope specification of a charl] varakble

Virtual functions allow yvouto

a_ Create an amay of type pointer-to-baze-class that can hold pointers to demved  claszas
b. Create functions that have no body

c. Group obyects of different classes so they can all be accessed by the same function code
d. Use the same function call to execute member functions to objects from different classes

A sorting algonthrn which can prove to be 2 best time algonthim n one caze
and a worst time alponthm in worst case i
a. Chock Son b, Heap Sont c. Merge Sort d.  Insent Sont

Banker's algonthem for resource allocation deals with
a_Deadiock prevention b. Deadlock aveidance ¢ Deadlock recovery d None of thesze

Which of the following commumications Enes 15 best suited to mnteractive processng apphcations?
3. Namowband channels b, Samplex channels ¢. Full-duplex channels  d Mixedband chanmels

What is the main function of a data bnk content monitor?
a. Te detect problems in protocols

b. Te determme the type of ransnussion used in a data bnk
c. To determme the tvpe of seitching used m 2 data link

d To determime the Sow of data

. Which of the following memores has the shomest access tame?

a. Cache memory b. Magnetic bubble memory c. Magnetic core memory d. FAM

In which of the folowing page replacernent policies, Baladv's anomaly ecours?
a_ FIFQ b LEU . 1LFIT d MRU

After execution of CMP, 2 mstruction in Intel 8083 microprocessor
a ZF iz set and CY is reset. b. ZF iz se1 CY is unchanged
c. ZF isreset, CY is set d. ZF is reset, CY is unchanged

In a cestam society, there are two mamage goups, red and brown. No mamage & permatted within a group. Un mamage, males become part o fther wives groups; women
remam m ther own group, Children belong to the same group as then parents. Widowers and dvorced males revent to the goup of thew bith. Mamage to more than one persen
at the same time and mamage to a dwect descendant are forbidden

A male bom mio the broomn group may have

a. Anuncls i either proup b Abrown daughter

¢. A brown son d. A son-m-law bom mto red grougp

A parallel plate ar-filled capacitor has plate area of ™ ' and plate separation of 107 m. It is connected to 3 0.5 V, 3.6 GHz sowrce. The magnitude of the displacemnent cuarent
is (& =1/36p x 107 F'm)
a 10mA b. 100 maA e 10A d 150 m#4

The phase veloaty of an electromagnetic wave propagating m 2 hollow metalbe rectangular waveguds inthe TE;; mode s
a. equal to it group veloorty b less than the velocity of Bght m free space
. #qual to the velocity of Eght m free space d. greater than the velodty of iight in free space

Moize with umform power spectral densty of MW/ Hz 15 passed through a filter H (o) = I exp(-jwty) followed by an 1deal low pass filer of bandwidth BHz, The cutput notse
power m Watts is
a. IM:B b. 4M:B c.eMN-B d 16 NM:8

The caseads amplifier i 2 multi-stage configuration of
a, CC-CB b. CE-CE c. CBCC d CE-CC




Section-1

GROUP -"B"

I. For a cantdever beam with unformly vanyng lead, shape of bending moment curve 15
a. parabolic b. hyvperbobc . sxaight Eme d. culbic.

I

- Foa 1st apder lever, mechanical advantape iy
a <l b.>l e =] d. mons

3, The negative resistance charactenstc is exhabited by
a.-Dhode b Toode c. Tewode d. Pentode

4. Thermal efficency of IC engmes will be
a, 20-I5%  bo30-33% €. §0-T3% d. 45-35%

3. When a mass is suppaorted by a spung of constant k. whach 1s cut in 4 equal pieces and connected m paraliel way, the squuovalent
SPINE constant is

akid b6k o) 64k dj 0.4k

&, Dlass production of belts and ovetsis by
4. hot extrasion b. forging c.cold headng 4 cold peening

-4

BMlercury dossn't stick to glass ube bacauss
a. cohesive forcezadhesive force b .cohesive forcecadhesive force
¢ cohepve force= adhesve force d. none of the above

2. Euler's forrmula is used for eohomn of length
. =80 b <B0 e =0 d >11d

2. Ifa bedy weaghmg 40 kg floats m water with 40%6 of vohome smmersed, the sp. gravity of the body s
a.l b.0l6 c.0.23 d. none

10, If center distance of an mvolutes manng gear changes then the pressune angle
a. mereases b decreases ¢, remams umaliered d nesther of them

11. Nermahangis
a. heated above cotical temp and cooled im air
b_heated above cotical temp and guenched in eil
. heated below entical termp and cooled in air
d none of theze

12, The best suited matenal for permanent magnet is
a. Almice. b silicon £. COpper d. rmild steel

13. Hooke's jont is used for
. parallel and mbersectmg shafis b. non-parallel non-intersectng
c. non-parallel and mtersecting d. parallel and non-mtersecting

14, Which of the follovwing iz 2 loose nunnimg fit”?
a_ hi £ b hied e hidd d nane of thass

15. Specific speed m a turbo machine depends on
a. peornetnic shape  bosize ¢ head d all of these

16. Unit of surface roughness i
3. mucTon b. PPAL ., mamn2 d mster

17. MMohs's circle is used to find
a. prnciple stress b. resulvant of ANS ¢ pancpal sirain d. none

18, Which one m the following has less carbon centent?
a.tool steel b.sprmgsteel o carbumsmg steel d. forging steel

1%, Spherowdising is a process of
& annealing b. normalisng . tempering d. caze hardening

20, What type of thread 5 used m lead screw of 2 lathe
a. acmne thread BV g osquare d. buttress

21. Wear allowance of a go noge end plug gauge is gven for
a. po end b. nogo end £ both d. none

232. Heming bone gears are used when it is required that a/'an
4. axial thoeet is transmitted b radial theust is tranemtt ed
. tordque i transsriited. d Mene of the above

23. Inball beanngs, cage s used to
3 mamtain the ball pemtion b)) maintain parallelsm between mper and ouler race

c. bath d. nome
24, Distance of czone laver from surface of earth
a.0to 100 km b. 20%e 30 km e i0te 100km 4 10ve I3km
23, An elevator i moving up »ith an acceleration of 4.9 misec with a body weighing 15 kgis attached wath sprmg balance. What
is the value in the spring balance?
a 10 b. 13 c. 2 d 30

26, At same heat mpat and max pressuns
a. efficiency of Otto cvele is more than diesel b efficiency of dual cvele is more than diesel
c. efficiency of diesel eyele b more than Cita d. all the abowve

27, Bending stress iz (if v 12 the distance from the neural axis)
a. mversely proportional to ¥ b, proportionalto
. mdependent of ¥ d. none of the above

28. Which of the fallowing is 3 wyong staterment?
3. Plastes of Pans iz made from dolomuts, bausite and imsstons
b. Highest temperatuse is represented by red colour,
. In ball beanng, grease lubncation acts as boundary layer ubncation.
d. Dhesel 15 abways the most efficient fuel for automcbales,

29, Fahrenheit and centigrade are equal at
a. 40 bo 3 4100

30, MMelting pomt of ice changes with

a. mereass with pressure b. increase with pressure ratio ¢, Both d none




GROUP-D

(.1. Non-circatrical alopecia is seen in

A, Alopecia aerate

B. Autoimmune in etiology
C. Pseudopalade

D. DLE

Ans: A

Q.2. Direct immunofluorescence is positivie in

A. Atopic dermatitis
B. SLE

C. Pemphigus

D. Secondary syphilis
Ans: C

Q.3. Shortest acting non depolarizing muscle relaxant
A Mevacurium

B. Vercuronium
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Section-1
GROUP — “(C"

For | cum of first class Brck Wark (metne back), the no_ of broeks required wall be
(a)400  [(b)450 &) 500 (dy 550

Where ordnary Portland cement is used, removal of properties under slabs spanmng up to 4 5m may be done (according to BIS 436-1978) after expiry of
(&) 3 days (b) 7 days {c) 10 days (d) 15 days

In the caleulation of carpet area, the area of comider and passage of a bullding will be
(a) mehaded {b) exchuded () 40% mchaded (d) 80% meluded

For earthwork the wt of lead for a distance of 300m is
(a)30m (b} 50m(c)60m (d) 100m

For 2 coats white waslung on a ceat of prmer to new plaster, the quality of unslaked lme in kg required per sqm area will be
(a)20 (&) 23 ()30 (dy33

Survevor companies used to measure the
(a) OB (B} WCEB (=) FB {d}BB

Width of Gauge for a raibway track (B.G.)im metre is
(a)1.625 {b) 1676 () 1675 (d)1.673

Mach number is the ratio of

(a)memia and gravity foree (b)inemia & slastic force
(el viscous & merhia force (d)none of the these

The bearng of is fne AB of an equiateral tnangle ABC (anti dockwise) is 60°, the beanng of me CAis
{a) 20" (b} 18D = [y 60° (d} 240"

Toughness of Aggregate i detemmunsd by
{2} onpact value test b} crushmg value test
() abrasion test (d) shape test

The city Chandigath was planned by Archatect
(2} Frank Lloyd Wright {6} Le-Carbousier
{c} Bruce Allospp {d} JN L. Durand

Ifthe flaor to floor height of 3 budldmg is 3 Smts, numbers of read will be (height of one riseris 1 5em)
{a)24 (b)23 fc) 23 (dy22

If the plot area is 3000 m* and F.5.1. is 1.5, then built-up area will be
{2} 250m (b) 3000 m’ {3 2000 ' {d) 4500 m?

Whoch iz not the ponaple of plannmg?
{a) roomaness (b} aspect {c ) umuty (d}) ewrculation

Agrports are classified under
{a) reaidential rone (b} mndustrial zone
(c) agricultural zone {d) none of thess

Order of color (Descending) in road traffic signal is
{a) Fed, Green, YVellow (b} Green, Yellow, Red
(e} Yellow, Green, Red {d) Bed, Yellow, Green

School Ahead signis

{2} Waming sign (b} Informatery sign

{c} Regulatory sign (d} Conirol sign

Pyramids wers designed in

{2} Mughal Architecture {b) Egyptian Archiecture
{c} Roman Architecture {d) Greek Architecture

Aggregate inpact vakue < 10% categonzed under
{a) strong (b} week for road surfacing

{-t]- i::ﬂ-!p&dn:ll:,r sirong {d} ::I.i:lf:.l:l-ﬂ-:r.'i]:'_l,f forroad .'n.lzr.itii'ia;
The degree of precision required in smvey work mamly depends on the

{a) purpose of survey {b} area to be surveyed
{c) source of emor {d) nature of feld

The first rathway Ime between Mumbai and Thane was opened m the year
(a) 1844  (b) 1843 (c) 1854 (d) 1833

Trom command m Auto-C AT is the command of
{2} Draw (b} Format () Modify {d} Help

Which of the following is unit of Kmematic Viscosity m 51 Svstem
(a) méisec (b)N-secm® (<) Stokes {d) Poise

A Clinorneter i wied for measuring the
(2)slope (b)distance (] bawel [(d} nene of thess

Least count of 3 Pnsmatic Compass is
(2) 30 mimn (b} 15 min (¢} 45 min {d) 1 min

The murzmum grade of concrete recommended by 15 4302000
(ayMI15 (byM20 (c) M25 (d) M30

The first sky scraper building m Murnbai was
(2} Wosld Trade Centre Colaba (by Kalpatan Heights Apripada
(&) Usha Kiran, Tardea {d) Fortume Towes, 1) Road

The Water collected at Bhandup Treatment Flant comes from
{a) Vaitama Dam (b) Tansa Dam (c) Bhatza Dam  (d) Badlapur Dam

Sand stons i
(2) sedumentary rock [b) metamorphue rock () igneous rock (d) veleane reck

The mazmnam Beanng Capacity of seal 15 that of
{a)bMlack cotton soi (bhloose fire sandy soill  {c) hard rock (d)ysoft clay sol




Section-11

BIOLOGY

1.  Durmg Prophase-] of mesosis-l, crossmp over koes place between:
{a) Some homologous pairs ondy.
(b} noa-sister chromatids of some bomologous chrompsomes oaly.
{¢) non.-zigter cheomatids of «ach homelopous pais.
{dp Al of these

p

In Mendelrsh experments, on Fy mdnadual produces gometes 1 theratioof 1:1:1 : 1. Thas 18 because:

{a) 1t 55 3 dibnvbnd (b} of mdependent s5ortment
1) 1t a5 dibrvbrid test crogs ratic (A bothamd b

3. A peoe bocated 3 V-chromosome and hence transmaived from father 1o som a5 koo a3

{3} Chperator gene (b} Supressed pene
{¢) Halandrie pons () Sem.binlead facassiwe pene

4. A person shows blood pressure of 16000, He is sufferng from:
{2) Hypotenswn () Mo tension
() Hypertensson {d) Astenosclerosis

5 Oueof the followmg is used 25 3 preen mazmre, [dentify o
{a) Bhizobiam radiciceta (b} Crotalana pances
() Bacdhue pobymyws  (d) Plants with root nodubes anby.

6. Therypes of pametes produced by 2 smgle heterorygons yellow round pes plane may be -
(YR Yo B MYEE ©YEYr (@bore
1. Oneof the followmg & not 3 mam made miesgenens bybod -
{2) Bphanobraznca (b} Pamato
{c) Secale ceresls {d) Trehcale
5 Gesejare-
{2l segments of chromosomes
(k) made of DINA segments and asiociated histcoe protens
{2} specific polyiclectide seqomces m DNA
{d) all of these

8. Producer gas differs from bio gas because -
{al it 8 peoscheced throush mecrobial acton
(b at coataing carbon monoxsds
(€)1t does mat bism with smakelass flames
{d} 1t s produced m fermenter tank

10, Agncultore 15 conssdered 3 primery mdustry m Indi because -
{&) It acoounts for nexrdy 2/ 5% of the Gross Naticasl Product.
{b) It empoys mapority of working population
{3 It pives pramasy education m stwtmg an adastry
(d) Al the thres

11, Some pars of codons and mtcodons ane grven 25 follows -
@ AUG-UAC () GGU -CCU
(b CAG-GUC (@ AU -UAA

12. Pomi out the sttemest which = sot spplicable to the pesheidas
{4 mamy peaticidss are not BEger §pecifie
(b) some pesticides ane poasonous
(c) pesticides poliute sodl, water and air
{d) pesticides minimize ecomomic loss m agnooliare
13, The sex orgams se sotmlly abemt bat penzsl reproduction takes place @ =
{2} Rhodephbyoess (&) Bassdicmyretes
() Chlorophyoeas () Imperfect fung:

14, A pes plany with the genetvpe Br VY TT s 3-
{a) trbybnd (b} debrbnd
{c) monohybnd (d) simgle beterorvgous dommant

15, Which of the following are not nanzrally synthesized i hnsman body?
{2} proteins () enzymes
{e) viramms () 2l che threw

15, How masy types of nrirogen contunmg bases oré found m 2 sucleotide sf DNAT
{a)2 (b4 (€13 idy 1

17. DAP i a form of -
{2} kagh energy contammg compound wsed m coll metabolism.
(&) baomass wsed for productkon of Encenengy
(] misnal seggy
() orgmic waste of ansmal ongm
18} The fover m Hibascus (China rose) 13 -
(a) kypogyaous () mesadedphous
(<) epepetalous (d) all of these

I#. Fragmentstion is a bype of -
{a) sexual reproduction (b asexual reproduction
() dlona propazation  (d} vepstative culivation

20. In ssrobe rasperanon, total sumber of ATF formed withouwt mvelvme ETS comes oo -
(R6ATF (D)4 ATP ) 2ATP (dy & ATP
21 Alsles srethe -
{a) tw'o genes om the homologous chromosomes
() two forms of the same gene
() twp penes present on the same locus of a bomologous chromosomes
(i) teo homologous chromosomes with identical pase loc
22 The bybrid, impeoved hMexican aheat vanieties developed by Noman Bodmg wer -
() dovarf
() succeptible 1o diseasss
(£) with hagh quality but poor yreid
(d) wth hegh yeeld bat poor quality and reststance to disesses
23, Cyeas shows -
() beterospory b} beterophylly
(c) beteropametopintes () all of these

4. CO- in mot released durmg -
(2] neforbae feUparation (b} i mesahie feaparation
(¢} dlcobobe fermenmnon (d) Lache acid fementasion

23, (i) Mulbplscghon () Propagation  (m) Perpstustion

AH of these represent =
{2 TeOvetaRion (B} seproduction
i) replication {d} recreatica

26, Whach one of the following it not mexbantible resouree’
(Dambight ()sddpows  (Jeod  (d) raméall

Two DNA stads are
(a) paraile and complememtary
1] mupzﬂlﬂ and moe-pomplementary

[ ]
(hrl

T Whug Qg {€) backeria (D virus

29, Feplicabon of DNA, pew strand has
(=) one parental and coe odd strand
b} both new strands
1=} both old strande
id} one parental and oo new strand

30, r-RNA m callsd nbosomsl BN A baciise
i)t s bocated m nbosome b} ssutheseed m nbosome
{c) destroy m nbosome {d) formed m nkosome

31) DA frapment of gene library are made up of -
{a) dead plami=z (b} dasd mamals
(e} hiving bacteria [d) dead bacteria

31 What i seeminfic piene of Haly basd?
(a2} Aloe vera (b} Adsthods uases
(o) Oscooum samctum {d) Amderachts mdica

33. InAloevera........ active prmcipal present

34, Fheobomm fees o m legumes doe to
{3} hasmoglobm {b) leghaemogiobn
(ch globulm {d) hematogiobim

35. Tramsparation is relsted to whach of the following
(x) witing of leaves  (b) showt formaton
(¢) Bowermg mduction () bud formanon
36, InHill resction, Hill used ... to prove the presence of oxypen.
(3} fermc cymude () ferrsc salt
(<) hasmoglobm {d) leghaemoglobulm

37, Photolysis of water requires
i) Hight and water (b ight amd chlogopindl

(e} tight and CO; {d) CO; and H;0
38, In plant diermg photosyethesis PGA i reduced by -
(@) NAD {b)FAD
(c) NADFH: {d} FADH-
38, With H.O a=d chlcrophdl, the most essential rw matersl for photesynthess u
{a) €0, B0
(ch H:5 [y GO

40, During glycolysis 3 PGAL is phosphorylated im0 1,3 - PGA. by using
{x) phosphoric acid (B} ATP

{} ADP (d) AMP

41 Pyruvic acd is formed affer the glyeolyiis contaime . carbon stoms.
()4 (b & ()3 (dy2

42 From following ... 18 the commen resparatory subsimats.
(2)aming asd (b) gluoose (€] protem iy fa8

43 The doubls fertilrmation mecbades fusion of one male pamets with fomsls pamete and another mals panste with -
(2} secondary mucless (b) egp ool

() mucellus {d) atpodal cdll
44, The female gametopbyie 15 epresented by -

{a) mucelbas b} egg cell

i) embayo g2 {d) astipodal clly
45, The micropyls of anstropous ovale is doses to

{a) hetum () chalaza

() fumicle (d) snyle




While the following sample questions do not collectivelv comprise an entire assessment, they do illustrate the manner in which manv of the topics might
be assessed. (Calculator use is optional in anrwering the multiple-choice guastions.)

1. Which of the following is the graph of -3 =x <27

Section-I1

MATHEMATICS

16

26

an

i3

(Al E (B) 2 ) & (L 8
7. When a new movie opened at a local theater, the numbers of tickets sold i each of the first four days were w, x, ¥, and 7, respectively, If w > x > v >z, then which of the following
could be troe?
(Alx=w+y (Blw=x+y (Cyw+x=x+2 Diw+x+y=x

§. What is the slope of the lne 2x - Sy =157

LL

13,
14,

15.

| B
18.
19,

20

21, A frushes the work m 10 days & B m § davs mdividually, If A wocks for only 6 days then how many days sheould B work to complete the remaining soek?

. Aboy has Bs. 2. He oims or loses Re. I at a time. [T he wins, he gets Be. | and if he loses the game, he loses Be. 1. He canloose onky 5 tomes. He is out of the game if he eams Bs

23,

4.

5.

16,

27,

25

0.

il

. Aselution of EMaOY i reduced to Ma02  The normality of sohition iz 0.6 The malanty &

() 5.5 kams (b} 3 km (e 13 km id) 6.4 kam
110, X's father's vafe's father's granddavghter uncls wall be related to X as
(2)Sen (b) Nephew (e} Uncle {d) Grandfather
34. Find the next monber in the semes 1,3, 7,13, 21,31, _
()43 b) 33 {e) 41 (d) 45
313 Ifina ceram code "BANGE" is coded az 12345 and "RANDOM" s codad a3 1234678, then the
code for the word "MANGO™ would be
(a) §2337 (b) 89343 (c) 84629 (d) 82347
36. Intepraie 3x +5 7 {(x'atax+1)
(2} 12 Tog | (e=1)(x-1) | - 4/e-1) (b} lag [2+tanx)
(e)41+logx¥x (d) 2 log{tanx)(tanx=2)
37. I y=coricosx = 4sinx} {1 7Y=, then dy/dx is

i =4 R
B=d=2 0 &6

Inthe figure below, which paw of pomts is on the bne Iy =3y =07
¥
Fid)

{(-3.2) -E-‘

X
% 563

(-2-3) 8

(A} Fand @ (B} @and & (C)Qand 5 (DyRand 5

For the equation 4y = Ix, which of the following statemnents is true?
[A) The vabue of ¥ imcreases 4 tomes a5 fast as the value of x.
(B) The value of y increases I tomies as fast as the vahue of x.

1
(C) The vahue of y increases 2 a3 fast as the vabue of x.

I
(D) The vabse of v increaces 9 28 fast agthe vabue of x.

Ef-}-'?
Ifx=-1,y=3, and z =4, what is the value of 3z
13 5 5 11
(A) 5T EB:I-I_f l:{-'}ﬁ {D‘Jﬁ

Which of the following is 3 graph of 2 fusction of x 7

y B r
—%-—n*i 4@—1

i) r (e} s

1A

6. Ifdx -3(x=1)=3, what s the vahae of x 7
1

e 2 2 o
{ﬁ}'i (B) "3 (<} 5 ] 7

9. Inthe equationy =17, if x iz increased by 3, then v s mcreased by

Ay G (B)9 Cidc+6 Dbz =9
Jix)
E
:
1/
| T

10. The fi;uwe above shows a portion of the graph of a function  According to the graph, if F{x} =3 6, then x is between which of the follovwing?

(A1 and 2 (By2andi (Cy3and4 (Dy4 and 5

There are 150 weights. Whils sorme are 1 kg, others are I kg The s of all the weights is 260, What is the momber of | kg, weights?
(a) 43 by 35 ()40 {dy 50

A cartravels 12 kms. with hos 4759 filled tank. How far will it travel if its tank 15 173 filled?
fa)6kms.  (b)4 kms. (€} 15 kms. (d) 5 kms.

The sum of the digns of 2 tovo-digt mumber is 8, When 18 i3 added o the mimber, the digne are reversed. Find the number?
{a}33 (b} 33 (=} 30 (d)33

Father's age 15 5 umes bus son’s age. 4 years back the Father was 9 tmes older than his son. Fmd the father's present age.
(2} 42 years (b) 40 vears (£} 435 years (d} 38 vears

If 10 workers take 15 davs to complete a job, i how many davs can 23 workers finish the same job?
aj10days b)12 days €} & davs d)j11 days

If B | 260 s dvided between A, B and © nthe ratio 2:3:4, whatis C's share?
{a)Rs. 560 (b)PRs 550 () Bs.540 {d) F.s. 650

If A is traveling av 72 ko per hour on 2 highway, B is traveling at 3 gpeed of 21 meters per second on 3 highway. What is the differencs in their speed inm/sec?
(a) 1.2 misec(b) 1.1 misec (€)1 mvsec (d)y 0.8 misec

Thete 15 a six-tetter word UGANDA. How many ways can you amange the letters in the word o such a wav that both A's aze together.
(a) 24 (b} 240 (e G0 {d}none of thess

Complete the senies, 3 8, 24, 48 83

F ol *

(3)14,34 (®)12,36 (115,33 (d)none of these

Complete the senes: 4,-3, 11, -14,22, _.
(2} 4% (b}=33 {c)=23 [dy=27

(a)32days (B)3davs  (c)29days  (d)36 days

Find the number of ways in which this i possible?
(a) 12 (b3 14 (320 {d) 158

a+lh=g§ ab=4 Fa+1lb=
(2)372 ORE (€} 273 (dy 374

There 15 & certain nurnber of rows m whichf we place 3, 7, o1 ¥ balls per row, then no ball
rermains. But if we place 11 balls, then one ball is less to complete the row. Find out no of balls,
{2} 315 (b} E30 (e} 45 [d} carmot be determined

A frog tries to jump out of 2 well 30m high It jumps 3m up and ships down 2m each time. After
how many jumps will i come out of the well?
{a) 30 {By27 {c)} 28 {d} cannot be determined

Onin of 10 white, 9 black and 7 red balls, in hew many wavs can we select one or mors balls
{2) 234 {b)y52 (e} 630 {879

A and B throw a dice. The probabilty that A's throw is not greater than B's is
{a) 512 ®)712 (e} 11712 (d)5/36

Given two mombers A and B, lst A denotes the single AN between these and 5 denotes the sum of
n AMs between therm, Then 5'A depends upon

{aln (bina {cinb {drnab

If the mum of the reots of the squation ax™bx-+c=0 s aqual to the sum of the squares of thear
reciprocals, then a‘e b'a, &b are in

{a) AP (b} GP ic) HP {d}Mone of the thess

In the following questions (103 and 106), = represents the integral sign, for example, 1=2 [fix]
maans infegration af the function fix) over the interval § to 2,

Thee vahie of 121225, e itepration of the funetion |2.2% aver the interval .1 to 2 s
{a)0 {31 {e)2 (d}Mone of the above

I£ 02 log snocJdx=k, then the value of 0~0/4[logll +tan x)jdx whereD stands forp, s
(a) k4 (b (c) k'8 (k'8

Ifa b, cbeimn GF and pg ba respactively AN betweesn a b and b e then
(2)2b=1/p+1iq (b)2b=lip-1/gq (e} 2=a/pe'g (d} MNene of the abave

(2} 1.8M {b) 0,68 () 0.IM (d) 0. IM

A person travels 12 kmom the southward direction and then travels Skm to the nght and then
travels 1 5km toward the night and finally travels 3km towards the east, how far is he from his starting place”?

()0 byl {e)-1 (d) none of thess




Section-IV

ENGLISG LANGUAGE / VERBAL ANALYSIS

Choose the corrdcl syMomnyns.
1. TO DISPEL

a. te dizzipate b, to dassent & to distar d 1o desfigars
2. LATITUDE:

a. sCope b. segment <. globule d. legslabure
3. DEPRECIATION:

a. Deflation b. Depression €. Devaluwation 4 fall
4 DISPARITY:

a. mequabty b. mmpartalbty . unfammess d. twisk
5. OVATION:

a. eration b. gesture ¢, ermulatien d applause
6. [NSINUATE:

a. imvisible b. hunt C. Inaccurate d. canese resentrment
7. FROLIFIC:

a. scrace b. abundant ¢ beseech d crave
5. RELINOQUISH:

a_repudiate b. fecund C. vanquish d ceds
O BUFTURE:

a. break b, contimie c. enthusasm d. happmess
10. RASCENT:

a_lateni b. reactive C. EFETEINE d unstable
Cheose the correct antony s,
11. DILIGENCE

a. caution b. Lazmess c. assiduouwsness d meticulousness
12 DGR IATIC:

2. Flaxible b Altemating  c Imiperfect d authomtarizn
13 CRYPTIC

a. ladden b. essential €. expheit d. smooth
14. ALTENATE:

a. Esirangs b. wam C.aceept d iradiate
15 FRECARIOUS:

5. UNCErtain b. Stable . crtical d. causal
15. DEFRECATE:

a. augment b. reduce £ Approve d. demy
17. CROSS:

a. happy b. dnade c. group d. cropper
182 CHIMERICAL:

a. chide b, realistic ¢ dracorian d. drausght
19. UNTOWARD:

a. urrsaeldy b. plausble C. DOnVenent d. phlegmatic
20 VAGRANT

a. ubiquateus b. twaddls . Tetract d. satiled

Cheose correct aliernanves,

2l Tsawher the awpornt

a.at b. an c.in d nto

22, Dr, Manoj Gupta specialises pleasant, well-balanced wines.
a.mto b.about c. in d. with

13 By the time I amived the pub she already left

a.m b. on coat d. e
1 What's the tme vour watch?

am b.on c.at d by
25. When wall veu come the play?

a by b. at . for d en
Pick up the correct spellings.
48, 3. supamntendent b. supenntendent

b. soreepenmtendent d. superentendant
17.a_ ssparits b. sepirate

£, sweeprate d .'.-EP::'I:
8. 2. suceed b. succeed

c. saxede d seccede
19 3 mairencs b independence

€. mismperet d m.d.e.'lam:-l:
30_a. despam b. dispam

. Buviner d cavard




Section-I11
LOGIC /| REASONING

Read the paszage cardfully and answer the following guestions.

“There are gx stéps that lead from the first to the s2cond floor. No two people can be on the same step. Mr A is two steps below Mr. C and Mr. B is 2 step next to Alr. D. Only one step
is vacant (Ne one &5 standmg on that step). Denote the first step by step 1 and second step by step 2 etc”

1. IfMr. Ais onthe first step, which of the following is tmue?
{2} Mr. B is onthe second step
(b} M. C iz on the fourth step
(e Mr, E, could be an the third step
(d) Mr. Dis on higher step than M, C

2. If Mr. E was on the third step & M. B was on a higher step than Mr. E, which step must be vacant?
[a)stzp 1 (b} step 2 () step 4 {d)step 5

3. 1fMr. B was on step 1, whoch step coudd Abe on?
(3)2 & 3 only )3 &deonly (J3&Sonly (d)4& S5 onky

4. Ifthere vere two steps between the step that A was standing and the step that B was standing of, and A was on a higher step than
D, A musst be on step .

{2)2 )3 (e)4 ()3

3. In Alanguage, if mielhigent i coded as hosflonhhdos, how is “pespect’ coded?
(ayttofdu  (b)ittofbu (¢} rvrgdds (d} rvrghds

& In 2 class compased of x mrle and v bovs, what pant of class s composed of grls?
@ viE=¥) (byxixy 1= =v) (d)vixy

7. There are 200 questions on 2 3 hr examinatien. Among these questions, 50 are maths problems. It is suggested that twice as much
time be spent on each maths problem as for each other question. How many miruies should be spent on mathematics problems?
(a) 36 by 72 (e 60 {d) 100

Riad the passage carafully and antwer the following questions.

“All G's are H's Al G's are J'sor K's.
A Vs and K's are G's

Al L5 are K's.

ANz are M's.

MNaMeare3's”™

§. Ifno P's are K's, wihach of the following must be true?
{a)All s are I's
biNePisa G
{c)MoPizanH
(dyIfariy Pisam Hitiza G

9. Which of the following can be logcally deduced from the condsions stated?
{a}oM'sare H's
(b} Mo &'z that are not ™'s are H
{c) Both a and b are comest
{d) Mone of the abave i& comect

L0, Which of the following incensiztent with one or more of the conditions?
{a) Al H s are (G's
(b} All H's thae are not G's are hi's
{c) Some H's are both M's and G's
{d) Mo M'sare H's

Read the passage cardfidly and anrwer the following quesions

“Six swimmmiers A, B, C, D, E, F compete ina race. The outcerne i3 as follows.
E does not wan.
Ondy two seimmers scparate E& D,
Adlsbehind D & E
- Bizahead of E, with one yoaummer intervening
Fiz ahsad of D
i. Figahead of D"

R

of o

11. Who stood fifth in the race?

(a1a (b)B €)C (d}E
IZ. How many swimmiers separate A and F?
{a)l (b2 {ch4 (d) canniot be determimed
13. The swimmer between C & Eis .
{a)Nere BVF b ® B
14. If at the end of the race, ssunmer D is disquahfied by the judges then swimmer B finishes in whuch place?
{a)l (b2 {c)}3 (dy4
15 If"PROMPT" is coded as QSFLOS, then "FLAYER" should be
{(a) QMBIFS (b) QWMFDW () QUREXM (d) URESTI

The guesiions [30-135 are based on the following paitern. The problem delow contain a guestion ard twe sialemenis giving cerialn daia. Fou have to decide whether the daia given
in fhe stotemenes ard suffleiens for answaring the guastlons. The corract answer in

(AN IF starernent (1) alons i sufficient bt staternent (I1) alane is not suffbeisnt.
(B If staternent (11} alone is sufficient but statement(l) alone is not sufficient.
{C) If both statements together are sufficient but nether of statements alone 13 sufficient
(D) If bath together are not sufficient.
15, What is John's age?
(I In 15 vears John will be toace as old as Dias would be  (I1) Dhas was bom 5 yvears ago

16, What & the distance from city Ate city C m kms?
(1) Ciay A is 90 kms from City B (11} City Bis 30 kms from City C

17.1If A=C. A B, C are real momberz, then -
{T) A-B=H.C (I A2C=C.2B

18, What s the 30th term of 2 gven sequence?
(i) The first two terms of the sequence ate 1, % (II} The common difference is -1/2

189 Wae Avimazh eatly, on time o late fior work?
{T) He thought has watch was 10 mimnutes fast (T} Actually has watch was 5 mimaites slow

20, What is the valae of Aif A is an integer?
MiA=1 AnA*+1=0




Section-\

GENERAL KNOWLEDGE

1. Which of the followmg is pot comect about the charactenstics of the roman  Gods'goddessesT
2. Jupiter: Supreme God, Inked to weather, heaven, agrnewliure, | justice, war, peace weaties, and kght
b June: Wife of Jupiter, protector Wonmssn.
e, Minerva: Goddass of Wisdom, crafis indusines and trads.
d. None of the above,

2. To which nussical Gharana does Bismillah Khan belong?
a. Delhi Gharana
b. Bambai Gharana
¢, Chennai Gharana
d. Mone of the above

3. In Hindu nwrthology, what is the name of the auspiciouws jewel Lord Vishou wears on 2 pendant around his neck?
2. Kavstubham
b. Armdham
;. both

d. mome

4_ In Indian musical terminoelogy, what is the femimne of Baga?
a. Raga Bhamvi
b. Raga Pahan
¢ both
d mone

5 With reference to Indian Public Fnanes, contider the fallawing statements:
1. Dasbursements from Public Accounts of India are subject to the Vote of Parhament,
2.  The Indian Constitution provides for the estabbshment of 2 Consobdated Fumd, a Public Account and a Contngency Fund for each State.
3. Appropnations and disbursements under the Radway Budget are subject to the same form of parbamentary control as other approprations and disbursements
Which of the statements given above are comect?
{a)1and X (b32 and 3
{e)1land3 (31,2 and3

6. Conmder the followmg statements:
1. The Fist Session of the Indian Naticnal Congress was held m Caleutta.
2.  The Second Session of the Indian Matonal Congress was held under the Presidentship of Dadabhai Macroji
3. Both Indian National Congress and Muskrm League held their sessons at Lucknewin 1918 and conchuded the Luscknow Fact.
Which of the statements gven above i8are comect?
(231 and2 b} 2 only
(12 and 3 (d) 3 only

7. Which one of the following statements i comeet?

(a) The Constituent Assermbly of India was elected by the Provincial Assemnblies m the vear 1946,

{b) Jawahardal Nehru, M A Fonah and Sardar Vallabhbhai Patel were members of the Constituent Assembly of India.
(g} The Fost Sesson of the Constituent Assembly of India was held m January, 1947

(d} The Constitution of India was adopted on 26% Jaruary, 1950,

. Consider the following statsrnents:
1. The highest erimimal count of the district is the Court of District and Sessions hudge.
2. The Dnstnct Judge are appomted by the Govemor in consudtation with the High Courts.
3. Aperson to be ehgble for appomtment as a Bistnct hadge should be an advocate or a pleader of seven years' standing or more, or
an officer in judicial service of the Unien or the State,
4. When the Sezgons Judge awards death sentence, it must be confirmed by the High Count before it 32 camied out.
Which of the statements pven above are comect?
{aj1and2 by2, 3and4
(c)3 and 4 (d)1,2,3andd

2. Consder the following staternents:

1. The Speaker of Lok Sabha has the power to adjoum the House sime e but, on prerogation, it i only the President who summons
the House.

2. Unless sooner dissolved or there 15 an extension of the tenm, there 5 an automatic dessobution of the Lok Sabha by efflux of tame,
at the ¢nd of the period of five vears, even if no formal order of dissobution is 1ssued by the Premdent.

3. The Speaker of Lok Sabha continues in office even afier the dissoluwtion of the Howse and until “imnsedsately before the first
meeting of the House'
Whech of the statements poven above are comect?
{a)1 and 2 {b) 2 and3
()1 amd 3 (dyl.,2and3

10 Consider the following statsrments:
1. Nen-function of lachrymal gland is an mnportant symptom of deficiency of Vitamin A
I Deficdency of Vitamin B can lead to mdigestion and heart enlargement
3. Vitamm C deficiency can lead to pam m the muscles,
4. Deficency of Vitarmn D cawses moreased loss of Ca= + inunne.
Which of the staternents given above are comect?
{2}l amd 2 b32,3 and 4
{c3l,3 and 4 (dyl,2, 3andd
11. The hormoene msubnis 3
{2} Giyeobpid (b Fatty acid
{ch Pepride (i Sterol
12, The Archaeclogical Survey of India (ASI)is an attached office of the Department Mmistry of:
{2} Cultuze
{b} Tounsmn
{e) Science and Technology
{d} Hurnan Rezource Developrmemt

13, Which of the following 15 3 wrong statement?
a. AFFIDAVIT - A statement on oath for use a5 evidence m begal proceedings.
b COPYRIGHT - Exclusive right of an author in his works.
¢ DECEEE . Judgment or decizsion having the force of law.
d FLATNTIFF - A person who has to underge emotional paim due to justics passed on bs not i his faveur.

14. Wheo 15 the ongnal warter of the famous collection of poems Rubalyaar?
a. Ameer Khusn
b. Mathew Amold
¢. Harvansh Bai Bachehan
d. Guddzar

15. Which one of the follonng statements is pot comect?
{a} The largest Buddhist monastery i India & n Assam
{b) The langea ges Konvak is spoken in Nagaland
(e} The largest over island m the world i m Assam
{d} Sdkkim is the least-popudated State of the Indian Union

16, Consider the following statements:
1. The Chinese pilgrim Fa-Hien attended the fourth Great Buddhist Counetl held by Eanishia.
2. The Chimesse pilgriny Huen-Tsang met Harshavardhan and found him to be antagomstic to Buddhizm
Which of the staterments gven above is'are comect?
(@) 1 onky (b)) 2 only
(c)Both | and 2 (d) Iveither 1 nor 2.

17. Conszider the following crapa:

1. Cotten 2, Grounsdru
3, Maize 4, Mustrad
Which of the above are Khanf crops?
(a1 and2 {b)1,2and3
(c)3 and 4 (@1.2,3 and 4

18, Which one of the follovang statements is not correct?
(2} The largest Buddhist monastery n India 15 i Assam
() The languages FKonvak is spoken in Nagaland
{c) The largest fver island in the world is in Assam
(d) Sikkirn is the least-populated State of the Indian Union

19, Connider the followng statements;
1. Mon-function of lachoymal gland is an important symptom of deficiency of Vitamn A
2. Deficiency of Vitamin B can lead to mdigestion and heant enlargerment.
i Vitamin C deficiency canlead to pain in the muscles,
4 Deficiency of Vitamin D causes mereased loss of Ca= + in urine.
Whech of the statermnents gven above are comect?

(@}l and2 32, 3and4
() 1.3 and 4 (dy1,2,%and 4
2. The hommons insuln i 3
(2} Ghyealipid (b) Farey acid
(c) Peptide {d) Sterol
21, In which organ of the laman body are the bymphocyte cells fommed?
{a} Liver (b} Long bone
() Pancreas (d} Spleen

21, Water required per day perhead m India is :
{a) 135 litres by 2040 Bt (e 105 Lik {d) 150 lit

23, Department of survey of India bs situated at
(2] Mumbai (b} Chandigarth  (c} Dehradun {d) Bangalore

24. D AP.J. Kalam is the
a, 11* President of India b. 12% President of India
£, 13% President of India d. 14® Prenident of India

23 Whach of the fellovang statements 15 not comect?
The Taj Mahal is on the bank of Fiver Yamuna.
b. The Indian capital Delhi iz on the bank of Biver Yarmana.
¢, The aty of Kanpur is situated on the bank of Yamunad
d. Golden Temple is m Asmitsar

26. The Taj Mahal was completed m
(a) 20 yre  (B)22 v (e} 2l v (i 15 ves

27, The Commeraial captal of India 15
(&) Drelha (b Cakoutta (e} Chennai () Mumbai

28, Which amaong the following Nanenal Highoeay routes is the longest?
() Agra-Mumbai  (b) Chennai-Thane () Kalkata-Hajira (d) Pune-Machilipatnam

29, Whach of the following authors won the Booker Prze twice?
{a) Margaret Atwood (b} 1 M. Coetzee
() Graham Swift {d) lan MeEwan

30. In the well known Laon Tennis doubles teamn, hax Mimyi — once the panner of Mahesh Bhupati - comes from which of the following countnes?
(a) Iraly (b} Sweden ic) Belams (d) Croatia

31. Which of the following cricketers holds the record for the highest seore in a Test Crcket Team Match innings by an Indian?
{a) Sunil Gavaskar {&) Vinoo hMankad
{¢) Sachin Tendulkar {(d) V. V.5 Laxman

32, IN5 Trghuol, acquired by the Indian Navy m 2003, has been buik by
(a) lsrasl (b UEA {e) Baassia {d) France

33, INSAT-3E, India’s commmaru-cation satelbte, was launched m 2003 from
(a) French Guiana (b} Sevchelles
(&) Bauritius () Maurtania

34, Which one of the following statements is comect”?
‘Deccan Odyssey' 15
(a}) A beok on Chatrapati Shivani
(b} A warship recently acquired by the Indian Mavy
(e} A recenthy started i service betwesn Mvmbai and Calomba
(d) A huxury train which travels through Maharashtra and mehsdes Goa in its Jouney

35, Which one of the following cities (they were in the news m recent times) 15 not comectly matched with its country?

(a) Salamanca : Spam
b} Cannes : Ttaly

(e} Cancum : Mexica
(d) Bruges  Belgum

36, Standard 18-carat gold sold inthe market contams
(x) 82 parnts gobd and | 8 parts other metals
(b} 18 pans gold and 22 parts other metals
() 18 parts gold and & parts other matals
(d) % pants gold and 1} parts other metals
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